


4-1

)

M-1 4-10 4-10 M-1.2 4-11

M-1.3 4-11 M-1.4 4-12 M-1.5 4-12

M-1.6 4-13 M-1.7 4-13

M-2 M-2.1

M-2.5 4-20M-2.3 4-18 M-2.4 4-20

M-2.2 4-18

ECM

VBM-M6/M7
BLZ MS 251-2/3

VBM-M10/M11
BLZ MS 251-2.1/3.1

C-MCXVBMMS8
VBM-M8
BLZ MS 251-7

VBM-M9
BLZ MS 251-7.1

VBM-M5
BLZ MS 251-8.1

BLZ MS 251-1 BLZ MS 251-1.1/1.2 BLZ MS 251-6

BLZ MS 251-6.1 VBM-M1
C-MCXVBMMS1

VBM-M2

VBM-M4
BLZ MS 251-8

ECM



4-2

M-2.6 4-22 M-2.7 4-22

M-3 4-25 M-3.1 4-27 M-3.2 4-29

M-3.3 4-31

M-5 4-35 M-5.1 4-35 M-5.2 4-36

M-5.3 4-36 M-5.4 4-37 M-5.5 4-37

ECM
)

MBZ 160-01/02
MBZ 160L-01/02
E7200

MBZ 160-04/05
MBZ 160L-04/05
E7200

MBZ 160-12
MBZ 160L-12
E7200

MBZ 160-14
MBZ 160L-14
E7200

MBZ 160L-21
E7200

MBZ 160L-25
E7200

VBM-M3
C-MCXVBMMS3

VBM-M12

C-MCXRSOSMG-LA
VCN
VBG
CBC

VCR

ECM



4-3

M-5.6 4-38 M-5.7 4-38

M-5.9 4-39 M-5.10 4-41 M-5.11 4-41

ECM
)

M-5.8 4-39

MBZ 160-21
E7200

MBZ 160-25
E7200

MBZ 160-03
MBZ 160L-03
E7200

MBZ 160-33
MBZ 160L-33
E7200

MBZ 160-36
MBZ 160L-36
E7200

MBZ 160-06
MBZ 160L-06
E7200

ECM



)

4

6

71
8

10
9

V

O

V2
3

5 11

ECM

12

4-4

5:
ECM



~

200

+1.00.5(mm)
8-300(mm/sec)

(mm)

F2

F1

A
1

A
2

P1 P2

F1=A1*P1*

A1: cm =D*D*0.785

F2=A2*P2*

A2: cm =(D*D-d*d)*0.785

D: cm

d: cm

P1: gf/cm

160*0.9=1808.6Kgf

160*0.9=1224.6Kgf

P2: gf/cm

1m=10dm=100cm=1000mm
4 6

6cm=109

(mm)
(mm)

20016063

12511035 40

(kgf)

:

:
12

:
160

2182

1508

3740

2586

4987

3448

1302

2232

2976

7420

12720

16960

21980

13370

37680

22920

50240

30560

25

16

343

202

589

347

785

463

32

18 20

562

384

965

659

1286

879

343

588

784

40

22 25

879

613

1507

1051

2010

1402

343

686

1225

50

28 30

1347

943

2356

1617

3141

2156

879

1507

2010

80

45 50

3518

2405

6031

4123

8042

5497

2144

3675

4900

100

55 60

5497

3771

9424

6465

12566

8621

3518

8041

125

80 90

8590

5071

14726

8694

19634

11592

4137

7092

9456

100

14070

8576

24120

14702

32160

19603

6031

4-5

)

ECM

(mm)
(mm)

1Mpa=10.2 =10bar=150PSI=1000kpa=106Pa

ECM



)

4-6

ECM

ECM



PP

P1

P2
:

PT-PH

PT-PH

PT
-P

H

)

:NZ

4-7

,

         

ECM

ECM



)

ECM

I

E

1.5

1

1.1

1.2

1.3

1.4

1.5

1.6

1.7

E 32 20 50ST F* C=

4-8

ECM-1

1

2

1

   

   

NZ

NZ

2

ECM

!

F

Z



J HL

 M10*1.5 15

15

25

30

40

40

50

60

Piston

25

32

40

50

63

80

100

125

D)

Rod( D)

 M12*1.75

M12*1.75  M16*2

M16*2  M20*2.5

M20*2.5  M27*3

M27*3  M30*3.5

M36*4  M42*4.5

 M48*5

JE

 M10*1.5

 M12*1.75

M12*1.75  M16*2

M16*2  M20*2.5

M20*2.5  M27*3

M27*3  M30*3.5

M36*4  M42*4.5

 M48*5

)

4-9

ECM-1

18

22

28

35

45

55

80

20

25

30

40

50

60

90

16

   

*C

7

10

10

10

14

14

15

16

WD

14

16

20

26

32

42

52

76

17

22

27

37

46

56

86

ECM



ECM-1/1.1

stroke

4-10

ECM-1

ECM-1.1

Piston

25

32

40

50

63

80

100

125

*C E F

657 50

75 G1/45510

85 G1/46310

100 G1/47610

125 G1/29514

160 G1/212014

200 G1/215815

230 G1/218016

D)

Rod( D)
MG

3045

3555

4063

4575

6595

80120

108150

130180

11

13

16

20

26

28

35

S

21

25

25

31

34

38

43

M1

 M8

M10

M10

M12

M16

M20

M24

M30

ML

16

20

20

24

32

35

50

50

Y T

G1/4

BB
ST 000

58

65

71

82

91

104

120

135

65

79

83

93

100

110

127

140

ST 200

ST 230

ST 250

ST 280

ST 350

ST 360

ST 380

ST 380

BB

 M8

M10

M10

M12

M16

M20

M24

M30

28

X

25

25

28

31

34

38

43

ST 200

ST 230

ST 250

ST 280

ST 350

ST 360

ST 380

ST 380

ST 000
X

21

18

22

28

35

45

55

80

20

25

30

40

50

60

90

16

VBM-M6/M7

BLZ MS 251-2/3

VBM-M10/M11
BLZ MS 251-2.1/3.1

11

ECM



ECM-1.2/1.3

ECM-1.2

ECM-1.3

Piston

25

32

40

50

63

80

100

125

Rod( D)
RO*C E F

657 50

75 5510

85 6310

100 7610

125 9514

160 12014

200 15815

230 18016

MG

3045

3555

4063

4575

6595

80120

108150

130180

S M1

 M8

M10

M10

M12

M16

M20

M24

M30

ML

16

20

20

24

32

35

50

50

D)

 M8

M10

M10

M12

M16

M20

M24

M30

BB
ST 000

58

65

71

82

91

104

120

135

65

79

83

93

100

110

127

140

ST 200

ST 230

ST 250

ST 280

ST 350

ST 360

ST 380

ST 380

BB

18

22

28

35

45

55

80

20

25

30

40

50

60

90

16

4-11

stroke

C-MCXVBMMS8
VBM-M8
BLZ MS 251-7

VBM-M9
BLZ MS 251-7.1

3

4

4

5

6

7

8

9

ECM



4-12

ECM-1.4/1.5

ECM-1.4

ECM-1.5

Piston

25

32

40

50

63

80

100

125

Rod( D)
RO*C E F

657 50

75 5510

85 6310

100 7610

125 9514

160 12014

200 15815

230 18016

MG

3045

3555

4063

4575

6595

80120

108150

130180

S M1

 M8

M10

M10

M12

M16

M20

M24

M30

ML

16

20

20

24

32

35

50

50

D)

 M8

M10

M10

M12

M16

M20

M24

M30

BB
ST 000

BB

18

22

28

35

45

55

80

20

25

30

40

50

60

90

16

stroke

58

65

71

82

91

104

120

135

65

79

83

93

100

110

127

140

ST 200

ST 230

ST 250

ST 280

ST 350

ST 360

ST 380

ST 380

3

4

4

5

6

7

8

9

ECM



4-13

ECM-1.6/1.7

ECM-1.6

ECM-1.7

RO*C E F

657 50

75 5510

85 6310

100 7610

125 9514

160 12014

200 15815

230 18016

MG

3045

3555

4063

4575

6595

80120

108150

130180

S M1

 M8

M10

M10

M12

M16

M20

M24

M30

ML

16

20

20

24

32

35

50

50

3

4

4

5

6

7

8

9

Piston

25

32

40

50

63

80

100

125

Rod( D)

D)

 M8

M10

M10

M12

M16

M20

M24

M30

BB
ST 000

BB

18

22

28

35

45

55

80

20

25

30

40

50

60

90

16

stroke

VBM-M4
BLZ MS 251-8

VBM-M5
BLZ MS 251-8.1

58

65

71

82

91

104

120

135

65

79

83

93

100

110

127

140

ST 200

ST 230

ST 250

ST 280

ST 350

ST 360

ST 380

ST 380

ECM



ECM

I

E

2.5

2

2.1

2.2

2.3

2.4

2.5

2.6

2.7

E 50 28 50ST V2=

C=

*

4-14

)

ECM-2

1

2

1

   

   

NZ

NZ

2

ECM

!

F

F

Z



J HL

 M10*1.5 15

15

25

30

40

40

50

60

Piston

25

32

40

50

63

80

100

125

D)

Rod( D)

 M12*1.75

M12*1.75  M16*2

M16*2  M20*2.5

M20*2.5  M27*3

M27*3  M30*3.5

M36*4  M42*4.5

 M48*5

JE

 M10*1.5

 M12*1.75

M12*1.75  M16*2

M16*2  M20*2.5

M20*2.5  M27*3

M27*3  M30*3.5

M36*4  M42*4.5

 M48*5

4-15

16Mpa)

ECM-2

18

22

28

35

45

55

80

20

25

30

40

50

60

90

16

*C

7

10

10

10

14

14

15

16

WD

14

16

20

26

32

42

52

76

17

22

27

37

46

56

86

ECM



ECM-2/2.1

1

4-16

ECM-2

ECM-2.1

BLZ MS 251-1

BLZ MS 251-1.1/1.2

ECM



ECM-2/2.1

Piston

25

32

40

50

63

80

100

125

D)
*C E

657 50

75 5510

85 6310

100 7610

125 9514

160 12014

200 15815

230 18016

MG

45

55

63

75

95

120

150

180

S M1

 M8

M10

M10

M12

M16

M20

M24

M30

ML

16

20

20

24

32

35

50

50

65

70

77

88

122

130

145

W K V

38

38

40

44

50

60

64

82

10

12

12

14

20

22

28

35

2

3

3

5

5

7

7

7

BB

V1

G1/4

G1/4

G1/4

G1/2

G1/2

G1/2

G1/2

Y T

G1/425

32

40

50

63

80

100

125

 M8

M10

M10

M12

M16

M20

M24

M30

Piston

4-17

47

48

52

57

76

76

80

80

23

23

24

26

33

33

43

27

18

22

28

35

45

55

80

20

25

30

40

50

60

90

16

stroke

100

ST 50

ST 50

ST 50

ST 60

ST 60

ST 60

ST 60

ST 70

ST 000

X

15

15

15

28

40

45

48

23

Rod( D)

ECM



1

4-18

ECM-2.3

ECM-2.2

ECM-2.2/2.3

BLZ MS 251-6

BLZ MS 251-6.1

ECM



RO

3

4

4

5

6

7

8

9

4-19

ECM-2.2/2.3

stroke

Piston

25

32

40

50

63

80

100

125

D)
*C E

657 50

75 5510

85 6310

100 7610

125 9514

160 12014

200 15815

230 18016

MG

45

55

63

75

95

120

150

180

S M1

 M8

M10

M10

M12

M16

M20

M24

M30

ML

16

20

20

24

32

35

50

50

65

70

77

88

122

130

145

W K V

23

22

24

27

26

35

40

43

10

12

12

14

20

22

28

35

2

3

3

5

5

7

7

7

BB

Y

25

32

40

50

63

80

100

125

 M8

M10

M10

M12

M16

M20

M24

M30

Piston

26

24

24

31

39

40

43

27

18

22

28

35

45

55

80

20

25

30

40

50

60

90

16

100

X

12

14

18

25

32

40

43

20

Rod( D)

ST 10

**V2

ECM



1

4-20

ECM-2.4/2.5

ECM-2.4

ECM-2.5

VBM-M1
C-MCXVBMMS1

VBM-M2

ECM



Piston

25

32

40

50

63

80

100

125

Rod( D)
*C E

657 50

75 5510

85 6310

100 7610

125 9514

160 12014

200 15815

230 18016

MG

45

55

63

75

95

120

150

180

S M1

 M8

M10

M10

M12

M16

M20

M24

M30

ML

16

20

20

24

32

35

50

50

W K V

33

38

40

44

50

60

64

82

10

12

12

15

20

24

28

35

2

3

3

5

5

7

7

7

Y
Piston

G1/4

G1/4

G1/4

G1/2

G1/2

G1/2

G1/2

T

G1/4

 M8

M10

M10

M12

M16

M20

M24

M30

D)

V1 V1 X X

4-21

ST 000

ST 200

ST 220

ST 230

ST 270

ST 320

ST 310

ST 350

ST 350

BB BB

ST 000 ST 000

ST 200

ST 220

ST 230

ST 270

ST 320

ST 310

ST 350

ST 350

26

27

27

30

41

47

54

66

50
200

ST 000
ST 000

50
220

50
230

50
270

50
320

50
310

60
350

80
350

33

38

40

44

50

60

64

82

ST 200

ST 220

ST 230

ST 270

ST 320

ST 310

ST 350

ST 350

ST 000

ECM-2.4/2.5

11

11

12

16

20

25

30

20

23

24

25

32

34

45

20

23

24

25

32

34

45

2727

52

65

71

82

91

104

110

127

64

79

83

104

114

120

136

94

18

22

28

35

45

55

80

20

25

30

40

50

60

90

16

stroke

1125

32

40

50

63

80

100

125

ECM



1

4-22

ECM-2.6/2.7

ECM-2.6

ECM-2.7

VBM-M3
C-MCXVBMMS3

VBM-M12

ECM



Piston

25

32

40

50

63

80

100

125

Rod( D)
*C E

657 50

75 5510

85 6310

100 7610

125 9514

160 12014

200 15815

230 18016

MG

45

55

63

75

95

120

150

180

S M1

 M8

M10

M10

M12

M16

M20

M24

M30

ML

16

20

20

24

32

35

50

50

W K V

33

38

40

44

50

60

64

82

10

12

12

15

20

24

28

35

2

3

3

5

5

7

7

7

Y
Piston

RO

 M8

M10

M10

M12

M16

M20

M24

M30

V1 V1 X X

D)

4-23

ST 000 ST 000

ST 200

ST 220

ST 230

ST 270

ST 320

ST 310

ST 350

ST 350

ST 000
ST 000 ST 000

ST 000

BB BB

ECM-2.6/2.7

8

10

10

13

16

21

25

30

21

25

27

32

39

40

43

21

25

27

32

39

40

43

2929

18

22

28

35

45

55

80

20

25

30

40

50

60

90

16

3

4

4

4

5

6

8

9

stroke

ST 200

ST 220

ST 230

ST 100

ST 100

ST 130

ST 350

ST 350

52

65

71

82

91

104

110

127

64

79

83

104

114

120

136

94

26

27

27

30

41

47

54

66

50
200

50
220

50
230

50
270

50
320

50
310

60
350

80
350

33

38

40

44

50

60

64

82

ST 200

ST 220

ST 230

ST 270

ST 320

ST 310

ST 350

ST 350

25

32

40

50

63

80

100

125

ECM



ECM

I

E

3

3

3.1

3.2

3.3

E 63 35 50ST V3=

H

*

4-24

)

ECM-3

   

   

ECM

!

C=

1

2

1 NZ

NZ

2

F

F

Z



ECM-3

4-25

ECM-3

C-MCXRSOSMG-LA
VCN
VBG
CBC

ECM



Piston

25

32

40

50

63

80

100

125

D)

Rod( D)

60 46

75 62

90 72

100 82

120 98

150 126

170 146

200 170

M

M10

M10

M12

M12

M14

M16

G S

ECM-3

Piston

25

32

40

50

63

80

100

125

ECM

BB

80

86

100

118

131

160

185

*C

7

8

10

10

12

14

14

15

E

50

66

76

86

106

130

155

182

LE

26

38

45

50

60

70

85

100

F

23

29

34

35

42

44

48

56

36

45

50

50

60

62

73

82

M6

M8

W

5

5

5

5

5

5

5

5

K

10

12

16

16

20

6

8

8

J HL

 M8*1.25

 M8*1.25

 M10*1.5

 M16*2

 M20*2.5

 M33*3.5

 M42*4.5

 M27*3

JE

 M12*1.25

 M12*1.25

 M16*1.5

 M20*1.5

 M27*2

 M42*2

 M52*2

 M33*2

20

20

25

30

40

50

60

70

RO

4

6

8

8

10

22 10

12

12

6 27

8 28

10 35

13 40

16 52

20 64

30 74

30 85

LB

8

10

13

16

22

30

36

46

JH

14

16

20

25

33

42

53

67

*L1

stroke

4-26

16

18

22

28

35

45

55

70

95

WD

14

16

20

26

32

42

52

68

ECM



4-27

ECM-3.1

ECM-3.1
VCR

ECM



Piston

32

40

50

63

80

100

125

D)

Rod( D)

80 58

90 65

100 75

120 90

140 110

160 130

190 160

M

M8

M12

M12

M12

M14

M16

G S

Piston

32

40

50

63

80

100

125

*C

8

10

10

12

14

14

15

E

60

70

80

100

110

130

160

F

50

60

70

70

80

80

90

M8

W K

16

16

20

20

22

10

12

J HL JE

20

25

30

40

50

60

70

RO

4 8 28

10 35

13 40

16 52

20 64

30 74

30 85

LB

10

13

16

22

30

36

46

JH

16

20

25

33

42

53

67

*L1

5

5

6

8

8

10

T

30

35

40

40

45

45

50

5

5

5

5

5

5

5

R

36

40

46

50

70

80

100

 M12*1.25

stroke

 M8*1.25

 M10*1.5

 M16*2

 M20*2.5

 M33*3.5

 M42*4.5

 M27*3

 M12*1.25

 M16*1.5

 M20*1.5

 M27*2

 M42*2

 M52*2

 M33*2

45

50

50

60

62

73

82

4-28

BB

160

185

ECM-3.1

18

22

28

35

45

55

70

86

100

118

131

95

WD

16

20

26

32

42

52

68

ECM



ECM-3.2

4-29

ECM-3.2

ECM



Piston

25

32

40

50

63

80

100

125

D)

Rod( D)

65 50

75 55

85 63

100 76

125 95

160 120

200 158

230 180

G S

Piston

25

32

40

50

63

80

100

125

BB

82

93

102

107

132

151

173

189

*C E

45

55

63

75

95

120

150

180

F

30

34

34

35

42

44

48

56

V3

51

44.5

45

48.5

56.5

63

74

86

J HL

 M10*1.5

 M12*1.75

 M16*2

 M20*2.5

 M27*3

 M42*4.5

 M48*5

 M30*3.5

JE

15

15

25

30

40

40

60

70

RO

6.5 18.5

6.5 18.5

7 21

10 28

13 37

19 54

30 90

35 100

LB

10

16

18

24

30

45

50

JH *L1

7

8

10

10

12

14

14

15

38+ST

50+ST

55+ST

55+ST

75+ST

85+ST

90+ST

95+ST

20

20

25

32

40

52

70

90

10

stroke

 M10*1.5

 M12*1.75

 M16*2

 M20*2.5

 M27*3

 M42*4.5

 M48*5

 M30*3.5

4

4

5

5

6

8

8

10

4-30

ECM-3.2

16

20

25

30

40

50

60

80

WD

14

17

22

27

37

47

57

77

M W K

15

20

20

20

22

10

12

12

2

3

3

5

5

7

7

7

M10

M12

M16

M20

M24

M30

M8

M10

ECM



4-31

ECM-3.3

ECM-3.3

ECM



Piston

25

32

40

50

63

80

100

125

D)

Rod( D)

65 50

75 55

85 63

100 76

125 95

160 120

200 158

230 180

M1

M10

M12

M16

M20

M24

M30

G S

Piston

25

32

40

50

63

80

100

125

ECM

BB

82

93

102

107

132

151

173

189

*C E

45

55

63

75

95

120

150

180

F

30

34

34

35

42

44

48

56

M8

W K

15

20

20

20

22

10

12

12

J HL JE

15

15

25

30

40

40

60

70

RO

6.5 18.5

6.5 18.5

7 21

10 28

13 37

19 54

30 90

35 100

LB

10

16

18

24

30

45

50

JH *L1

ECM-3.3

7

8

10

10

12

14

14

15

M10

2

3

3

5

5

7

7

7

4

4

5

5

6

8

8

10

20

20

25

32

40

52

70

90

10

ML

16

20

20

24

32

35

50

50

stroke

 M10*1.5

 M12*1.75

 M16*2

 M20*2.5

 M27*3

 M42*4.5

 M48*5

 M30*3.5

 M10*1.5

 M12*1.75

 M16*2

 M20*2.5

 M27*3

 M42*4.5

 M48*5

 M30*3.5

4-32

16

20

25

30

40

50

60

80

WD

14

17

22

27

37

47

57

77

V3

51

44.5

45

48.5

56.5

63

74

86

38+ST

50+ST

55+ST

55+ST

75+ST

85+ST

90+ST

95+ST

ECM



)

ECM

I

E

5.5

5

5.1

5.2

5.3

5.4

5.5

5.6

5.7

E 40 25 50ST*

ECM-5

V2=

5.8

5.9

5.11

5.10

4-33

   

   

ECM

!

C=

1

2

1 NZ

NZ

2

F

F

Z



J HL

 M10*1.5 15

15

25

30

40

Piston

25

32

40

50

63

D)

Rod( D)

20

25

30

40

 M12*1.75

 M16*2

 M20*2.5

 M27*3

JE *C

7

10

10

10

14

 M10*1.5

 M12*1.75

 M16*2

 M20*2.5

 M27*3

16Mpa)

ECM-5

4080  M30*3.5 14 M30*3.550

16

4-34

WD

14

17

22

27

37

47

ECM



ECM-5/5.1

ECM-5

ECM-5.1

Piston

25

32

40

50

63

*C E F

657 50

75 G1/45510

85 G1/46310

100 G1/47610

125 G1/29514

D)

Rod( D)
MG

3045

3555

4063

4575

6595

15

15

18

20

20

25

30

40

S

21

25

25

28

M1

 M8

M10

M10

M12

M16

ML

16

20

20

24

32

16

Y T

G1/4

BB

58

65

71

82

91

64

72

79

91

103

BB

 M8

M10

M10

M12

M16

27

X

25

25

27

28

X

21

ST 000
ST 000

100
200

100
220

100
230

100
250

100
280

ST 000
ST 000

100
200

100
220

100
230

100
250

100
280

80 160 G1/212014 80120 2550 34M20 35110 M20 34150
300

150
300

104

4-35

stroke

MBZ 160-01/02

MBZ 160L-01/02
E7200

MBZ 160-04/05

MBZ 160L-04/05
E7200

12

ECM



ECM-5.2/5.3

ECM-5.2

ECM-5.3

Piston

25

32

40

50

63

80

Rod( D)

RO*C E F

657 50

75 5510

85 6310

100 7610

125 9514

160 12014

MG

3045

3555

4063

4575

6595

80120

S M1

 M8

M10

M10

M12

M16

M20

ML

16

20

20

24

32

35

D)

 M8

M10

M10

M12

M16

M20

3

4

4

5

6

7

BBBB

20

25

30

40

16

50

ST 000
ST 000

58

65

71

82

91

104

64

72

79

91

103

100
200

100
220

100
230

100
250

100
280

110150
300

4-36

stroke

MBZ 160-12
MBZ 160L-12
E7200

MBZ 160-14
MBZ 160L-14
E7200

ECM



ECM-5.4/5.5

ECM-5.4

ECM-5.5

Piston

25

32

40

50

63

80

Rod( D)

RO*C E F

657 50

75 5510

85 6310

100 7610

125 9514

160 12014

MG

3045

3555

4063

4575

6595

80120

S M1

 M8

M10

M10

M12

M16

M20

ML

16

20

20

24

32

35

D)

 M8

M10

M10

M12

M16

M20

BBBB

20

25

30

40

16

50

ST 000
ST 000

4-37

stroke

MBZ 160L-21
E7200

MBZ 160L-25
E7200

3

4

4

5

6

7

58

65

71

82

91

104

64

72

79

91

103

100
200

100
220

100
230

100
250

100
280

110150
300

ECM



ECM-5.6/5.7

ECM-5.6

ECM-5.7

Piston

25

32

40

50

63

80

Rod( D)

RO*C E F

657 50

75 5510

85 6310

100 7610

125 9514

160 12014

MG

3045

3555

4063

4575

6595

80120

S M1

 M8

M10

M10

M12

M16

M20

ML

16

20

20

24

32

35

D)

 M8

M10

M10

M12

M16

M20

BBBB

20

25

30

40

16

50

ST 000
ST 000

4-38

stroke

MBZ 160-21
E7200

MBZ 160-25
E7200

3

4

4

5

6

7

58

65

71

82

91

104

64

72

79

91

103

100
200

100
220

100
230

100
250

100
280

110150
300

ECM



1

ECM-5.8/5.9

ECM-5.8

ECM-5.9

4-39

MBZ 160-06
MBZ 160L-06
E7200

MBZ 160-03
MBZ 160L-03
E7200

ECM



Piston

25

32

40

50

63

80

D)

Rod( D)

20

25

30

40

50

*C E

657 50

75 5510

85 6310

100 7610

125 9514

160 12014

MG

45

55

63

75

95

120

S M1

 M8

M10

M10

M12

M16

M20

ML

16

20

20

24

32

35

58

65

71

82

91

104

64

72

79

103

110

W K V

33

38

40

44

50

60

10

12

12

15

20

24

2

3

3

5

5

7

BB

V1 V1

G1/4

G1/4

G1/4

G1/2

G1/2

Y T

G1/425

32

40

50

63

80

ST 000

X X

 M8

M10

M10

M12

M16

M20

Piston

33

42

44

39

60

60

50
100

ST 000
ST 000

50
100

50
100

50
100

50
100

50
150

33

38

40

44

50

60

BB

15

15

18

20

25

20

23

24

25

32

20

23

24

25

32

2727

91

ECM-5.8/5.9

100
200

000
000

100
220

100
230

100
250

100
280

150
300

16

ST 000
ST 000

ST 000
ST 000

100
200

100
220

100
230

100
250

100
280

150
300

4-40

stroke

12 100
200

100
220

100
230

100
250

100
280

150
300

ECM



1

ECM-5.10/5.11

ECM-5.10

ECM-5.11

4-41

MBZ 160-33
MBZ 160L-33
E7200

MBZ 160-36
MBZ 160L-36
E7200

ECM



Piston

25

32

40

50

63

80

Rod( D)
*C E

657 50

75 5510

85 6310

100 7610

125 9514

160 12014

MG

45

55

63

75

95

120

S M1

 M8

M10

M10

M12

M16

M20

ML

16

20

20

24

32

35

W K V

33

38

40

44

50

60

10

12

12

15

20

24

2

3

3

5

5

7

RO
V1 V1

Y
Piston

25

32

40

50

63

80

X X

 M8

M10

M10

M12

M16

M20

D) BB

ST 000
ST 000
ST 000

BB

58

65

71

82

91

104

64

72

79

103

110

91

000
000

ST 000
ST 000

20

25

30

40

50

16

ECM-5.10/5.11

ST 000
ST 000

100
200

100
200

100
200

100
200

100
200

130
200

4-42

stroke

33

42

44

39

60

60

50
100

50
100

50
100

50
100

50
100

50
150

33

38

40

44

50

60

17

18

21

23

25

20

24

25

32

35

20

24

25

32

35

29.529.5

100
200

100
220

100
230

100
250

100
280

150
300

15 100
200

100
220

100
230

100
250

100
280

150
300

3

4

4

4

5

7

ECM




	4-0 ECM欧规磁性油缸
	未合并

